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:This paper contains FIFTY (50) multiple-choice assertation/reasoning/
matching questions, each question carries TWO (2) marks. Attempt All

questions.

L WL YW (M0) oigsella usdl, WY-vlg A ASs sriiaat usdl

O, MM WU i) duidl 8. Uds U4 o () o 8.

When the Court declares certain
provisions of the Act as invalid, it
does not affect the validity of the
Act and it remains as it is. This
principle 18 known as :

{A) Doctrine of Prospective Over-

ruling
(B)
(C)
(D) Doctrine of Eclipse

Assertion (K) : A Bill which
contains a taxation clause besides
clauses dealing with other matters
may also be a Money Bill.

Reason (R) : All Bills dealing with
taxes are Money Bills,

Codes :

(A) Both (K) and (R) are true, but
(R) is not the correct explanation
of (K)

Both (K) and (R) are true and
(R) is the correct explanation
of (K)

(K) is false, but (R} is true
(K) is true, but (R) is false

Doctrine of Severability

Doctrine of Pleasure

(B)

(9
(D)
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Articte 20 and Article 21 has been
taken away from the purview of
Article 359 of the Constitution of
India by :

(A) 42nd Amendment
(B) 43rd Amendment
(C) 44th Amendment
(D) 59th Amendment

The writ jurisdiction of the Supreme
Court of India is :

(A) Original

(B) Appellate

(C) Advisory |

(D) Original and Concurrent

One of the following is not a feature
of a Money Bill :

(A) It must be certified by the
Speaker of the Lok Sabha

of the

President is necessary for

(B) Prior permission

introducing it

(C) It can be introduced in Lok
Sabha only

(D) It can be stalled in Rajya
Sabha
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6. What is true with regard to Civil

Servants under the Constitution of

India ?

(A)

(B)

(C)

(DY

Law-II

They cannot be dismissed or
removed or reduced 1n rank

except after an inquiry.

They can be dismissed or
removed or reduced in rank at
any-time by the Prime Minister

of India.

They cannot be dismissed or
removed or reduced in rank

once they hold such post.

They cannot be arrested but
can be dismissed or removed or
reduced in rank at any time

during their tenure.

odla slare v-ad qdladl damil

deal 04 W4l sy w3 87

(A)

(B)

(C)

(D)

adlad] MHAELRI B2A2E, Aty sd
5 yeaanfd v syl Bay 530

usiy Adl

adladl wHaelzid sisdun @l
LRl ASIUALL A LS, A5
¥ vestadla 530 ud

Adladl sMesli ¥ d wisl seus
olle SISURL AA AU

Mg

JaHsd & uesia-ld 531 asiy Al

adladl BMEBLLA HAUSIA 320,
durl a2uss s asy Al u3g
SISUSL AHY, AHAL GRS, AAM S

5 yeradla 53 usi

[P.T.O.]



In which case the Supreme Court
of India has held that Secularism
is the part of the basic structure of
the Constitution ?

(A) Rajnarain V. Smt. Indira
Nehru Gandhi

(B) Minerva Mills V. Union of
India

(C) Golaknath V. State of Punjab
(D} S.R. Bommai V. Union of India

The Constitution of India is Federal
in character because :

{(A) The head of the State {(the
President) is elected by an
electoral college consisting of
the elected members of both the
Houses of Parliament and the
elected members of the
Legislative Assemblies of the
state.

(B) The Governors of the States are
appointed by the President and
they hold office during the
pleasure of the President.

(C) There is distribution of power
between Union and the State.

(D) The amendment of the
constitution can be made only
by following the procedure
laid down in the constitution
and in some cases the
amendment requires ratifi-
cation by Legislatures of the
States.
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10.

11.

Right-Duty co-relation is expounded 9.
by :

{A) Austin
(B) Fuller
(C) Hohfeld

(D) Cardozo

Which one of the theories of 10.

punishment is considered as judicial

contribution to Social Change ?
(A) Deterrent

(B) Preventive

(C) Reformative

(D) Retributive

A right to retain the possesion of 11.

a property until the due amount is

paid is known as :
(A) Lease

(B) Licence

(C) Lien

(D) Mortgage

Law-II 7
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12.

13.

14.

The jural co-relative of liberty
1s .

(A) Right

(B) No-right

(C) Power

(D) Duty

Right in re aliena means a right

over :
(A} His own property
(B} Property of someone else

(C) Property situated in a foreign

country

(D) Property situated in one’s own

country
Social Engineering means :

{A) Satisfaction of maximum wants
with least friction and least

waste
(B) Satisfaction of maximum wants

{C) Satisfaction of wants which are

valuable

(D)) Satisfaction of all social wants

Law-11
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15. Which of the following statements

is correct ?7

(A)

Primary responsibility of
International peace-keeping

and security is on the General

Assembly.

(B} The Security Council is a

(C)

(D)

Law-I1

deliberative organ.

Members may not accept and
carry out the advice of the

Security Council

Economic and Social Council is
to discharge the responsibility
of the States enshrined in
Chapter IX from Articles 55-60.
This Council operates under
the authority and supervision

of General Assembly.
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(A)

(B)

(&)

(D)

widzANY Al 24 wenndl 2
adiql wals wuoset] My

Al &

aeiidl aBld A wal [Rava
sy oL 8
Aam uBRA dae qoUl A ust

11513 v ™A L Y 52

&5 i Al wBfad ws
IX 2 WU—5C dwadl 1ol
gquotel Al ast sral ol
giotely] Wl 2l 9. #u
Af@ wnt WBQA 2al w4

toi3v, vl s1d 3 &

(P.T.O.}



16. Assertion (A) : Recognition of a

State is not the same as recognition
of its government.

Reason (R) : Within existing states,
governments come and go and
normally the changes raise no

question of recognition.
Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation

of (A)

(B} Both (A) and (R) are correct,
but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Law-II
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17.

18.

Which one of the following is
the successor to Human Rights

Commission ?
(A) Human Rights Committee
(B) Amnesty International

(C) International Committee of

Red Cross
(D) Human Rights Council

Which one of the following jurists
has been of the view that
International Law is not true but
positive international morality only,

analogous to the rules binding a

club or society ?
(A) Oscar Schachter
(B) John Austin
(C) D. Harris

() Loqis Henkin

Law-II
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19. Which of the following is the effect

of a unilateral declaration by a
State to accept the principles of a

treaty to which it is not a party ?
(1) The State becomes a party to

the treaty.

(2) The State becomes bound by

these principles.

(3) The State will have an

obligation to become a party to

the treaty.

(4) The declaration may create

estoppel against the State.

Select the correct answer using the

codes given below :
Codes :

(A) (1) and (2}

(B) (2) and (4)

(C) (1) and (3)

(D) (3) and (4)

Law-—II
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20.

21.

in India treaty making is an :

{A) Executive Act

(3) Legislative Act

(C) Judicial Act

(D) Legislative as wcll as

Executive Act

The failure to comply with the

decree of restitution of conjugal

rights for more than one year under

the Special Marriage Act may lead

to :

(A) Judicial Separation

{B) Divorce

(C) Imprisonment

(D) Compensation

Law-I1
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22.

23.

In Muta marriage, the wife :

(A) has a right to leave the
husband before expiry of the

term

(B) has a right to leave the
husband before the expiry of
the term only with the

permission of the Kazi

has a right to lcave the
husband before the expiry of
the term only with the

permission of the court

(D) has no right to leave the
husband before the expiry of

the term

In which of the following case the
Supreme Court held that the
registration of marriage should be

made compulsory ?
(A) Ashok Kumar V. Rupa Hura

(B) Hafizunnissan V. Mohd. Yasin
Ehan

(C) T. Sareetha V. T. Venkata
Subhaiah

(D) Seema V. Ashwani Kumar

Law-11
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24.

25.

A wife who willfully undergoes
abhortion against the wishes of her
husband and other family members
is guilty of :

(A) Dessertion

(B) Apostacy

(C) Cruelty

(D) Adultery

The petition for divorce by mutual
consent may be presented if the
spouses are living separately for a

period of :

(A) One year

(B) Two years

(C) Six months

(D} Any time after three months of

marriage

Law-II
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26. In which of the following case the
Superme Court held that even the
wife of a void marriage is entitled
to maintenance ?

(A) Amarjeet Kaur V. Harbhajan
Singh

(B) Chand Dhawan V. Jawaharlal
Dhawan

(C) Nirmala Devi V. Ram Das

(D) Ramesh Chandra V. Vecna
Kausal

27. The primary aim of the law of
damages 1s to :

(A) punish the party who has
committed the breach of
contract

(B) enrich the party who sustained
the loss

(CC) place the party who sustained
the loss in the same position as
if the contract has been
performed

(D) to give some type of
C(;mpensation

Law-II
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28. The Principle “Restitution stops  28.

where repayment begins” can be

applied against :

{A) an alien enemy only

(B) minors only

(C) lunatics and idiots only

(D} any incapable person

29. The remedy by way of Quantum 29

meruit is a :

(A} Contractual remedy

(B) Quasi-contractual remedy

(C) Zero remedy

(D) Notional remedy

Law-I1 17
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30. The inadequacy of consideration  gq.

will be taken into account by a court

of law :

(A} When the promisor expresses
his desire to get maximum

return for his promise
(B) When the promisor performs
his promise

(C) When fraud, coercion or undue
influence in the formation of

contract is pleaded

(D) always at the discretion of the

court

31. Promissory estoppel is sometimes Sl

spoken of as a substitute for :
(A) Novation

(B) Quasi contract.

(C) Consideration

(D} Coercion

Law-I1 18

stael-{l Aelaa gLl AHd% vudld vig

Al dquel ¢

(A)

(B)

(C)

(D)

HULI A sl Wi 2UNAL 994 112

HedH Ay 9%9dl Sld

Buty qdtsdl Yld el gt

W 53

WYL 5L AL UL 542,
isumsl & Sjrqaell wU sl

ol sl il el

SR velaarl [Qdsolgd »udlw

289

aefl MRAM 2 S19% A ... ... Al

A% ¥y Qi »ud 9.

(A)

Adl-lszw

(B) 245312

(C) =A%

(D) e«rsqHsl



32.

33.

Consider the following statements :

If a person who finds goods,
belonging to another, takes them

into his custody, then he :
(1) can pledge the goods.
(2) can gift the goods.

3) is the

subject to same

responsibility as a bailee.
Of the above statements :
(A) (1) alone is correct
(B) (1), (2) and (3) are correct
(C) (3) alone is correct

(D) (1) and (2) are correct

The “Absolute Liability” theory as 33

the basis for liability in tort for

industrial injuries was propounded
by :

(A) Blackburn J.

(B) V.R. Krishna Iyer J.

(C) P.N. Bhagawati C.J.

(D) Lord Atkin
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34.

35.

In public nuisance, a private right

of action lies :

(A} When the injury is merely

consequential

(B) When there is proof of damage

(C) When the injury is particular,

direct and substantial

(D) None of the above

Which one of the following is not

an exception to the rule of Volenti

non fit injuria ?

(A) Surgeon amputates a limb of a

patient to save his life

(B) Injury is caused while doing

lawful acts under contract

(C) Injury is caused while play-
fighting with naked swords at

a religious function

(D) Injury is caused to a football

player in football match
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36.

37.

(O)

In which one of the following
cases is the occupier liable for
Negligence ?

(A) Keeping a watch-dog which has

the habit of biting men

(B) Fixing broken glass pieces on

the top of the wall

Construct a compound wall to

prevent trespassers

(D) Setting spring gﬁns in the

premises {o prevent trespassers

The rule in Rylands V. Fletcher does
not apply when the escape is due

to .

(A) Inevitable accident

(B) Vis Major

(C) Negligence of the defendant

(D) Mistake

Law-I1
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38.

39.

The state is vicariously liable in an
action for tort if the act done by its
employee 1is :

(A) done during office hours

(B) affecting the plaintiff as well as

other persons
(C) done in unauthorised capacity

(D) a deliberate

negligent misuse of power

or grossly

granted by law

Which one of the following act is not
a mistake of fact ?

(A) Where an accused mistook a
human being in the jungle as
a wild animal at night and

killed him

(B) Where an accused killed a
person under the mistaken
belief that the latter entered his
house with the intention of
killing him

(C) Where an accused acting under
a delusion killed his own son

considering him to a tiger

(D) Where a constable wanting to
settle personal scores with A
mistakenly apprehended B and

caused injury to B
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40.

41.

The courts have evolved some tests
to determine at what stage an act
or a series of acts done towards the
commission of the intended offence
would become an attempt. Identify
which one of the following tests is

not correct ?

(A) Proximity test
(B) Impossibility test
(C) Locus standi test
(D) Social danger test

Assertion (A) : ‘X’ because of
unsoundness of mind not knowing
the nature of the act attacks Y’, who
in self defence and in order to ward
off the attacks, hits him thereby
causing him hurt. ‘Y’ does not

commit an offence.

Reason (R) : Y had a right of
private defence against X' under
Section 98 of Indian Penal Code.

Codes :

(A) Both (A) and (R) are true and
(R) correctly explains of (A)

(B) (A) is right and (R) is not the

correct explanation of (A)
(C) (A) is right, but (R) is wrong
(D) (A) is wrong, but (R) is right
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42. A finds a watch on the floor of a

State Transport bus while he was
leaving it as the last passenger. He
picked it up and put it in his pocket
instead of returning it to the State
Transport authorities. Next day he
sold it. ‘A’ is liable for :

(A) Theft

(B) Extortion

(C) Criminal misappropriation
(D) Criminal breach of Trust

. Which of the following is the correct

theoretical sequence in the

commission of an offence ?
(1) Physical Element
(2) Mental Element
(3) Forbidden Consequence

Select the correct answer using the

codes given below :
Codes :

(A (D—2)—(3)

(B) (2)-(1)—3)

€) @21

D B)—-(1—2)
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44. Locus penitential test is applied to  44. “‘wsAdiu-l as’’ +fl 504 {2 A4 s

trace which one of the following ? L W2 @) s3I asd ?
(A) Criminal misappropriation (A) yudld Guua

(B) Attempt (B) Mut

(C) Sedition (C) RUsls

(D) Conspiracy (D) s

45. The Trade Unions Act, 1926 defines  45. 5IMEIR ¥ wlaluy, 1e:s vad

the word ‘Trade Union’ in : “sMelR A L e L A
€.

(A) Section 2(g)
(A) sax 2 (o)

(B) Section 2(h) B) saxn 2 (A)
(C) Section 2(i) (©€) san 2 (2u8)
(D) Section 2(j) D) sax 2 (¥)

46. The Trade Unions Act, 1926 46. sidslk ¥4 wAMUA, 15 2ussdll

indirectly gives the workers, the Ad el ... IR CE RPN
right : 8.
(A) to provide recreational facilities (A) e wiledl daadi Anqq
(B) to safeguard conditions of (B) sl Ydi-it W Avqal
service | (€) ozl A el a8l ag QArga
(C) to enlarge opportunities for 534l
promotion and training @) wyRs el

(D) to collective bargaining
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47. The principal objects of the

Industrial Disputes Act, 1947 has
been analysed by the Supreme

Court in :
(A) Tata Memorial Hospital
Workers Union V. Tata

Memorial Centre

{B) Monogram Mills Ltd. V. State
of Gujarat

(C) KVS Ram V. Bangalore
Metropolitan Transport
Corporation

(D) Workmen of Dimakuchi Tea V.
Management of Dimakuchi

Tea Estate

. Under the Industrial Disputes Act,

1947 which section lays down

restrictions on the right to strike ?
(A) Section 22
(B) Section 23
(C) Section 24

(D) Section 25
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49,

50.

In which case the Supreme Court
distinguished between lockout and

closure ?

(A) Pipraich Sugar Mills Ltd. V.

Their Workmen
(B) State of Bihar V. Kripashankar

(C) Express Newspaper Ltd. V.

Their Workmen

(D) Western India Automobile

Association V. Industrial

Tribunal

Under the Industrial Disputes Act,
1947, what is the mode of settlement

of disputes ?

(A) by direct negotiation
(B) by mediation

(C) by conciliation

(D) all of the above
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